Revision Exercise (Polynomials)

1. a)

(i) 3 (iii) 13

(i) 7 (iv) 1

1. b)

(i) 4 (ii) 2

(i) 1 (iv) 11

1. ¢

(i) —14 (iii) —10

(i) —13 (iv) —13

1. d)

(i) 5 (iii) 13

(ii) 8 (iv) —2

1. e)

(i) 1 (iii) 17

(ii) 5 (iv) —1

1. f)

(i) —3 (iii) 13

(ii) —2 (iv) —2

1. g)

(i) 5 (iv) -1
(ii) 5 (v) —43
(iii) —19 (vi) 2
1. h)

(i) —4 (iii) 0

(ii) —6 (iv) —6

(vii) k* + 3k +3
(viil) k% — 3k + 3

(vii) 2k2 — 5k + 4
(viii) 22 + 5k + 4

(vii) k2 — 14
(viii) k2 — 14

(vil) k* — 2k* + 4k +5
(viii) —k3—2k2 —4k+5

(vii) 1+ 2k? + 3k% — k*
(viii) 1+ 2k2 — 3k3 — k*

(vii) k* —3
(viii) k* — 3

(vil) —2k* + k* — k* + 2k + 5
(viil) —2k* — k3 — k2 — 2k +5

(vii) k* — 3k% — 4
(viii) k% — 3k2 — 4



(vii) 14
(viil) k% — 3k +5

(vii) — 42

(viil) §k% + 2k —4

(vii) 12

(viil) §k° +k*—3k+10

21
(vii) —35

(viil) &k + 2k? — {=k*

(vii) %

(viii) gk + 3k° +2k+5

(vii) &

r
(vii) 142 — 1k — 1

N[

(vi) —

(viil) 2k* — 3k +5

(vil) 3
(viii) 4 — L&2



\]

e

(v) ¥ (vii) —20 (ix) 7k* + Sk

9 9
(vi) -2 (viii) k2 + 5k (x) k% — 2k
v) 5 (vii) % (ix) k% — 2k + 2
(vi) 4 (viil) 2k =3k +2 (x) gk® + 3k +2

(v) 2 (ix) gk3 4+ 3k* -k +3

(vi) (x) —gk* + 2k + 3k +3

(V ) 145

(viii) k:3 +3k* — 2k + 3

V) % (vid) 57 (ix) 1k% — 2k +5
(vi) ¥ (vill) 2k% — 4k +5 (x) —LK +k+5
(v) % (vii) 42 (ix) Sk +1k2 43
(vi) % (viii) 3k* + k> 4+ 3 (x) 2§6k4+ k*+3

(vid) 7 (x) 1— 2k 4 £k2— LK

(viil) 1+ k + k% + &3
(ix) 14 5k + $5° + 5K

(v) —2 (vii) — 122 (ix) =24 3k + 243
(vi) -2 (viii) —243k+5k%  (x) —2—3k—Zk*



3. 1)

k4

L
16

(ix) 1 —

65
81

(vii)

80
81

(v)

(iii) 0
(iv)

174
256 k

(viii) 1 — k4 (x) 1—

15
16

(vi)

15
16

(ii) 0

(g p=24q¢=9
(h) p

() p=—-8,¢g=12

(C)pzlvq:_lo

(a)p=2,4¢=0
(b) p

=22

7, q

(d)yp=11,9q=13

26, ¢ = 24

3r+1)(4x + 1)
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(¢) (z+1) (e) (z +2) (g) (z+10) (i) 2z —1)

(a) (x—3)

(d) (z +3) (f) (z—1) (h) (z +3) (J) (42 +1)

(b) (z +1)

7. (if)

(i) (22 — 1)(2z + 3)(z + 2)

(e) Bx—1)2x 4+ 1)(x +2)
(f) 2z —5)(z — 1)(x —4)

(a) (z = 3)(x —4)(x+1)

(j) 4z + 1) (—z+T7)(2z — 1)

(b) (x+5)(x+4)(z+1)

(g) (x +10)(—z 4+ 1)(z —2)

(c) 2z +1)Bx+ 1)(z+ 1)
(d) (z+5)(x+3)(z+6)

(h) (=2 +2)(7Tx + 2)(x + 3)

7. (iii)

—N

—<

(§) z=—

(g) T = _107 17 2

(d) z = -5, -3, —6

=34, —1

(a) x



(c)z =2, -3, -2

8, =2, —1
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(e) x =-10, =2, —1, 5

(f) z=1, 3, —6, —2

1,2, 3, —4

(a) 2

1,4, -3, —1

(b)

1
3

—
_ _
[
SIS
~~ ~~
o0 =
~— N~—
—
_
n_Aa
PR L]
o™ -
| [ap)
- 2-/
—la N
| —
1
] 8
O
~— S~—

10.

(d)a=50b=6

-5

(c)a=—-19,b

(b)a=3,b=10

(a)a=2,b=7

11.

11,b=3

(c)a=6,b=—1 (d)a=-—

(b)a=1,b=30

(a) a=5,b=6

12.

(c) a=235

(b) a =15



